BERG

VNHCTPYKUKMSA NO YCTaHOBKE

KIA RIO X-Line

(2017-2021 / 2020-)

Apt.: F.2815.001 Tvn wapa - «<A»
<h ‘
oY - |
1500 kg 75 kg

D (kN)= e e x0,00981

¥ o o
D=7,6kN @ % % o



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

BKpYTUTL/BLIKPYTUTbL UCMOJb3YS MHCTPYMEHT

BKpYTUTL/BLIKPYTUTL HE 3aTArMBas

[BumxeHne

Pacnonoxenune

MosopoT

S-17;
S-19



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

‘

/Y

==

=
]
)

=
]

<

banka

KpoHwTenH

KpoHwWwTenH

lNoapo3eTHUK

Kprok

M6x20

M10x35

M12x1.25x70

M12x1.25x35

M12x1.25

M6

M10

26

WH

KpoHwTe

x1

x1

x1

x1

x1

X2

x4

X2

x4

X2

X2

x4

X2

x4 | 26

x4 | 210

x8 | 210

x8 | @12

X2

x6 | 212



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

&@LJ)E
¥



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

:
[ﬂf\

15 e —



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

